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A: Pictorial Representation ' 0123405)
Sketch, coordinate system, label givens &tnknowns using symbols, measurements with 5d

uncertainty, conversions, describe events, precise physics question
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B: Physics Representation

Motion diagram, force dtagram interaction dlagrams, events
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C: Word Representatidn

Describe motion (no numbers), explain why, assumptions
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Describe solution steps
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D: Mathematical Representation

Describe steps, complete equations, algebraically isolate, substitutions with units, final statement with estnmated uncertainty
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E: Evaluation
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Does answer have reasonable size, direction and units? Why?
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